Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

£ RCICTIONS

We can use fractions when describing a part of a whole.
Use a fraction to describe the model below:

PCIRIS
7
FRCICTION
RANONOL | AW\ factions or numbers that can
NUMOERS be written as Bachons

Mixed
NUMbERS

A mixed number is a number consisting of a whole number greater than 0
and a fraction. Use a mixed number to represent the model below:

om

IMPROPER
' RCICTION

An improper fraction is a fraction in which the numerator is greater than the
denominator. Use animproper fraction to represent the model below:

:
e

CONVERIING
betweeN
f ORMS

To write a mixed number as an improper fraction: 3 13
Multiply the denominator with the whole number, 2—= _—
then add the numerator. Keep the denominator. 5 s
Write each mixed number as an improper fraction.
1 2 5
1. 4—- 2.7= 3. 2=
2 q 3 8
- 23 21
2 = “°
3

© Gina Wilson (All Things Algebra®, LLC), 2019



413 5. 4 6. 3L
14 10 12
11
e 1 43
a 0 12
]
To write an improper fraction as a mixed number: 3 iq
Divide the numerator by the dnominator. The f’_ _ -3 Jul
quotient is the whole number and the remainder is the 3 - N ‘3
numerarator of the fraction. Keep the denominator.
Write each improper fraction as a mixed number.
17 \—*‘- 13 ! 29 '
7. — " 8> Q13 9. =
: ! o 5 al'3 6 bL124
( --.| -24
5
L‘._l. 'S s
4 \ He
26 32 2 38
n. — 12. —
0.5 3z Y5 ez 7 13g
-24 -30 - 35
2 2 3
2 Zz 2
? 3 Z \sS 5 ]
—— | S—— —
A fraction is in simplest form when the greatest
. common factor (GCF) of both the numerator 15 *3
SlMpLeST and denominator is 1. To write a fraction in simplest | — = _§.
£ ORM form, divide the numerarator and denominator 24 3 8
by the GCF.
Simplify. Write your answer as a mixed number when possible.
6 2 5 5 4 vy
13. = =3 14. — - = | 15. — ; - 1
8 +2 15 = i W 32 * -
4 5 13 T e
4 8 [ 32
16.1— = 2 17.5— = 2 18. 2— = Y
10 s | & 12 ‘5 3 40
24 3 18 b 42 1
19. — = = 20, — =*2 21, — = —
16 2 15 s 12 Z
- -L = — = __‘,
E {‘si 37
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Name;

Unit 3: Rational Numbers

Date:

Per:

Homework 1:

Writing & Simplifying Fractions

Directions: Describe each model using (a) a mixed number and (b) an improper fraction.

Directions: Write each number as an improper fraction.

3. 2] 4.12 5. 63 6.3
6 13 7 4 12
- i 21 4l
b L 4 1
Directions: Write each fraction as a mixed number.
8 29 47 ~
L -20 42
2 q s
z 9 s
EZ:" 275 (’)z‘}
13 3 34 2 62 r_!_
10. = 11, = 12. =
4 413 15 \s[34 7 Tz
ziz =30 —'§‘%
! ! 4
A Y b
3 4 278 4 =)
Directions: Simplify. Write your answer as a mixed number when possible.
16 18 2 24 ’
13. 2 . |4 14. = | £ 15, 2 3
28 T | = 45 32 Y
5 %
6 i 15 12
16. 2— = —_— 17. 1— - S 18. 8 — - 2
8 “\2 8 S| |= 54 T\QZ
8 l
42 - 66 _ Al 3 120 o} !
19. = = = =l 22 20. — = 1.2 - 18 - =
2 - 7 3Z 8 - 8 ‘ ) 3% 7 3 33
3 rg
2T 3o
5 W 3
K1
63 21 . 5 86 _ 43 Y32 87 .29 . |9
22, — = =~ = = 23. — = 2 = =. 24, — = — =
48 lo lo 20 ~ J0 JO ‘ 12 4 1y
A 4 z"
9
ol z; 1o ‘_‘*I% 4 -2‘8
2
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Fractions that represent the same value are equivalent fractions.

eQUIVdLeNt
FRCCTIONS
- 2 -
4
To create equivalent fractions, List two equivalent fractions:
multiply the numerator and 3 L _ 1
WRITINO denominator by the same value. i 2 " o
eQUIvaLeNT Give two equivalent fractions for each fraction.
FRCICTIONS ;4 N 3 4
"5 " 12 )
2o , | 2z, 44 42 o
25 Is 24 4g 29 45
Write a number in the box that makes the fractions equivalent.
o 12 5. o - .. 16 _ LB
27 7% 20 4 18T 9
o| 40 " 40 5 18
To determine if fractions are equivalent, simplify both fractions.
Detemine if the given pair of fractions are equivalent.
crRe theY [, 8 4 14 &5
€QUIVCALENT? 126 20 1815
2z 2 L, L | -+
3% Yes! 4’5 No: 33 Ves!
m 2 18 6 2 28
13812 14 2410 D
3 3
7’5 yes! —“3—-:—;-' No! :31'% Yes !
Like Fractions with the same denominator
FRCICTIONS

example: %, , Y, 3,
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- UNLike Fractions with different denominafors
S 2 I
Given Fraction A = % and Fraction B = -2- which fraction is greater?
COMPCIRING , S
FRCICTIONS To compare, we can rewrite them as like fractions using @ common
denominator. Follow the steps below to compare Fraction A to Fraction B.
Find the least common multiple (LCM) -
o of the denominators. Lem =12
@ | Rewite Fraction A using the LCM as the 3 - 4
denominator. 4 12
(3 Rewrite Fraction B using the LCM as the s o
denominator. T - =
P Use a <, >, or = symbol to compare 3 @ 5
the fractions. 4 é
Compare using a <, >, or = symbol.
16, 3 @ 1 Lem: 2| |47, 4 13 Lem: IS
7 3 5 15
3 3 12
] 5
10 15 5 23
18. — = Lem: 12 9. 2 e .
FIOF w2 (0% oz
30 3o 20
L2 L2 24
7 17 8 10
20. - t — :
0. 2 0 Lcm: 20 21. ) 15 Lem: 6O
3 a4 Ho 4o
20 2o Lo %)
Order the fractions from least to greatest.
. lgl LCM: 20 23. é.z_ﬂ Lem: 18
ORCIERING | * 3?_ 2 73 e
FROCHONS | 25'35'25 10,1, 4
4 =z L S 112
k 20! 5 ' & R ETalke
Order the fractions from greatesde least.
3 7 4 92 115
L=, L2 Lw: 30 L= Lem 2
24 510" 6 25 46’2
1821 20 271 22 3o
30'30"306 2z
2,4
'D’la'%7 —2"'3‘)%‘]
J
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Name:

Date:

Per:

Unit 3: Rational Numbers »

Homework 2: Equivalent Fractions;
Comparing & Ordering Fractions

Directions: Give two equivalent fractions for each fraction.

1 7 2 A 3 19
8 M 2) 15 8 12 3 33 57
e ° 24 30 ’ 48 % a
Directions: Write a number in the box that makes the fractions equivalent.
12 4
5 _[30 5. o= |, LL_s s 22 .13
7 42 9 "6 30 12 3
Directions: Determine whether the fractions are equivalent.
2 14 6 2 57
" 3218 "16° 56 "20°12
3.1 | 3 3 ) !
4 ) 'q‘ NO . jx— )} §. YGS . ,q ) _3. \’ es.
Directions: Compare the fractions using a <, >, or = symbol. Justify using equivalent fractions.
1. §®ﬁ LCM:20 |40, i@i UM:32 |43 i@l Lem: HE
4 5 10 15 16 )
5 16 L a g
20 20 30 3o 42 4%
15 33 25 13 16 80
14. — — LM 30 15. — — b 16. — — :
2 @ 9 " 8 @ 3 M 9 75 emeds
135 132 2k 80,
36 36 © s
17. Order from least to greatest: 92_9§ 18. Order from greatest to least: iuﬂ
Lem:, 24 4 8 ¢ LM 80 5'16" 40
ac g1 22 ¢ ss
- ) ) 1= 29 15 23| Z2£,22, k2 4 30 U
AR g 'a’¢C | ® 8 g0 5246 "6

tickets?
Amy | Josh | Rhea
2 z 3
3 12 5
O 35 3e
0 (7o) ko

19. Amy, Josh, and Rhea were each given the
same number of raffle tickets to sell. The
table below shows the fraction of their
tickets that they sold. Who sold the fewest

Ltems Lo

20. The table below gives the weights, in
ounces, of three packages. Which package
weighs the most?e

Lem: HZ
A B C
5 13 2
1= = 1=
6 21 3
206 28,
I%S—z |72 143

(Paoka@ e A7
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

ADDING &

SUBTRACTING
%W,em

(with Like Denominators)

Follow the steps below to add and subtract fractions with like denominators.

@ | Write any mixed numbers as improper fractions.
@ | Add/Subtract the numerators and keep the common denominator.
© | simplify. if necessary.
Find each sum or difference. Give all answers in simplest form.
_.:.3_+l = .._I—Q— 2 E_l 12
"20 20 20 T16 16 o
= =3
w1
1 _7 3 _1 1.7 Gl 19
3. —_—— — - — — —_— —_— i
3% 10 © 10 455453 2 T
= 4 -_-'_199
10 12
12 _l-o2 =20 -\|; 2
- =125 3 - b3
§ - L —
512432 2 S 4 2 6.61-23 =25 _ 1
2 < 4 4 g 4
= 42 =14
8 t}
- gl. = S—L =1 = 3_L
4 4 2 Z

APPLICATIONS

7. One cat weighs 123 pounds and another cat weighs 16% pounds.
Find their combined weight.

12241y = M3, 81 - 2uy
o 4 —a
- 8% _

= = T 129 bs

8. It rained 2-173 inches in April and 3]'—5 inches in May. How fncny more
inches did it rain in May than April2

L _,a2 - 4Hb _ 37 - 9

315 7—:5 1S TR
=3
= n
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ADDING & SUBTRACTING FRACTIONS wsutn, tise demstminaters)

Directions: Find each sum or difference. Write all answers as mixed numbers in simplest form.
Use your solutions to navigate through the maze. SHOW ALL WORK!

2.7 2. 14 N3 153
20 20 1515 12712 8 8
2 8 | 11 1

2 . = = Lo -
= 25 = -.—o- 5 15 \2 T 12 26
:_2__8 =2
1z 3
T | [ 5
1= 1 ! 3
33_3 1.n B _,4
%ﬁ;ﬁ 8 8 24 24 15 15
8| 21 s 2l =20 @ 3 _34
=1 -3 M 2 2 24 TS
7 =22 -1 -
2 9 1S
3 5 3 1 5 4 1
N 23 / ’g 23 6 5 5
219 / 12_3 7 .3 07N
2732 99 35t 121
N N_s 55, 1a o
'%’O @ a 9 PIAT 2
- 15 -‘-‘,2_ =-—7ﬂ. = 3-2-
=z a To g
] 3 7 15 7 5
7— 7= L = Z 3 2
Q 4 9 “T6 ‘8 4 s
2 17 4a_25 A8
40 40 § 6 8" B Endl
41 .11 19 21 =54 I )
o o 20 2 3 2 @
s 55 =3
40 2
4 1 5 2l 2 51 1
5 33 i 3 (53) 2 2
1123 7_,1 8_4 2 a2
24" 24 18~ 18 6 6 20 20
35 . 41 1.29 = 34 3
a3 8 g o 3
= HZ 9 =11
=82 _ 4) T — 2 e
d 1z g 3 3
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Name: Date:
Topic: Class:
Main ldeas/Questions | Notes/Examples
@ | Write all mixed numbers as improper fractions.

ADDING &
SUBTRACTING
%me

(with UNLIKE Denominators)

Find the least common multiple (LCM) of the denominators.

(3

Rewrite the fractions using the LCM as the denominator.
Adjust each numerator to reflect the change in the denominator.

@ | Add/subtract the numerators and keep the common denominator.
© | simplify, if necessary.
Find each sum or difference. Give all answers in simplest form.
1. 18,3 (LM :12) 2. 2.3 (LCM: B)
12 4 4 8
13 a - 22 18 _s§
-+ = - - _ = = I3
1z -
1z 1Z | € g P
= _L’. = lé, 5
b = S
¢l H
3. 13,15 (Lem:12) 4 7.3 (Lem: 28)
6 4 4 7
2% T .l = 3
' s 28 23
-
- 5 12 = ,—i'
28
_l : 4,3 LeM: b
5.2-; (Lem:S) 6. 2+ ( )
o _ - 9 41 + 4 = 5o
5 5 5 7 72 ]
=25 _lg.L -
-Elsiv 2 iga
7124 4§ (LeMm: 1) 8. 413 (LM 36)
9 6 2 9
M o,29 2% 4 31 s _ 111 .20
At T T 2% w36
T3 = 151
a
% &)
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1] 5 11
9. —+2= : 10. 32+ 5— Lem: 24
£+ 25 (Lem: L) >+ 5 ( D
L +35 - L 4+ 15 24 4 1) g1 , 14z
L 2 [P b g 12 24 24
= lb = 229
b 24
-2 _ | _1_] - '31
3 ~ {23 - ﬁz
3 (3 1 4 1 3
24242 12. 2 — 44>
" +(2+3) 57018
3 A+ 2 3 _.L 435
T*(‘:*(p) 10 |0 + g
2 44 a4+ 33
T T 10 +8
2,22 - 43 _ o3 28 l'75=zo.3__[ 3
izt Tz 7|31z 40 HT 40 53

APPLICATIONS

13. Jordan made apple-cranberry juice by combining 1 % liters of apple

juice with 1 g liters of cranberry juice. How many liters of apple-

cranberry juice dogs he have? s
a2 = 124,158 . 32 , 4S
w13 L g 29 T 29

= 41 - .
"2'_‘."’ = L}ilq HCVS}

14. Marissa is making a cake that calls for 2% cups of sugar. If she has
1 % cups, how many more cups of sugar does she need?
- - AL 0 - 33 _22
2% -1 = § ¢

am——

i1z [

o]
—

Y
iz CuPs

15. Elijah took a 2-day road trip. He used 12 gallons of gas on the first

2
12

day and 911_3 gallons of gas on the second day. How many total
gallons of gas did he use?

L = 49 w3 - 1 4+ 324
2% +9% z * g 36 3¢
30 [21—3-; sw"bnsj

16. River Run Middle School consists of grades 6, 7, and 8. If % of the

students are in seventh grade and % of the students are in eighth
grade, what fraction of the students are in sixth grade?

I-(2+3) = I-(F+F) - |I-%
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WHERE DID CAPTAIN HOOK W s heok?

Directions: Find each sum or difference. Show all work on a separate sheet of paper.
After completing each set, find matching answers. One will have a letter and the other a
number. Write the letter in the matching numbered box at the botiom of the page.

T

2. 13. 4. 5.
!

T]0|R|E
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Unit 3; Rational Numbers

Name:
Date: Per: Homework 3: Adding & Subtracting Fractions
** This is a 2-page document! **
Directions: Find each sum or difference. Write all answers in simplest form.
. - 24 B 2 1
18 18 'g 24 24 Zq
-4 o] = —5’
3z “|I3 13
312422 =14, 25 45125 = 4) _ 2
q 9 8 8 8 g
= 39 = 20
q 4
= 13 = L | =5 )
3 N i"*z z -
7, ] . 31 .
4 . L - 1s L .5 = |L
20 20 20 20 20 20
=3
1}
| 3 1 .5
CA—+1= vz .5--1= ")
7. 4415 (Leme 12) 8. 5512 (Lem: W)
49 4, 2 - 49 4 2) TR TR + ST]
12 o 12 + TZ_' 2 b 7 b
=10 =35 _ 5 5 - Z‘-:?:
12 D b 0 S
=1~ =|3=
3 =23
5 2 3 5 1 3
9.3——-|=+= . 3=+ ——-—=
32 (3+2) 10.32+7073
4) 4.9 234 L -3
1~ (lo e ) & 16 s
15 32 g 160
.‘_'L)- --_'_3~ = _'-LL -}_g —_—t = - = =
2 "0 iz 72 30 3 3o 30
=15 _ s - =i?. = L
2z " F = 1"3}'} 3 -~ }33 }
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5_:3 Lem: 24
M- ( D
al_u - _Zi"_'. - 332
e 8 24 24
=25 _ 1)
24 D 29

12. 10 461 (Lem: 3o)

15 6
2k 4, 37 _ 52 _ 185
19 o 30 30
= 237
30
=19 .

13. Kisharan 8% miles then walked 1 % miles.
Find the total distance she traveled.

1 A
gt io

{271 + _D_ =
1S 10

5]
30

254
30

]

305
30

.

o IDT;‘ mi

14. Tom has arope that is 5% feet long. If he

cuts 1 %fee’r off, find the length of the rope
remaining.

5% - 1%

432 .5 = 129 _ 4D

g 3 24 24
= 89 = )
1 =|3:h T

15. The clearance of a tunnel is 15% feet tall.

If atruckis 13% feet tall, find the distance
between the top of the fruck and the top of

the tunnel.
5
I5Z - 133
= ’Tzl V2 12
= 25 _

— -

12

215 %i

16. If l% pounds of nuts is mixed with § pounds

of dried fruit to create trail mix, find the total
weight of the mixture.

2
|+ 5
5 42 - 25 4+ Z&.
'ZI'+5 20 +zo
=33 _[yis
20 ]20 o

17. A bag contains IO-} pounds of sand. If 3%

pounds are poured out, find the weight of
the sand remaining in the bag.

oY - 33
ﬂ~2_-_8_ = .3_&’_".-_1_[_2-_
4 9 b A
= 251
—————— - 5
3,0 “|l13g b

18. Mara made a cake. If she gave % of the

cake to her daughter cnd% of the cake to
her son, what fraction of the cake does she
have left2

|- (%+T)
- (F*%)
-3} I
g

m— -

! 18 18
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Name: Math &
Date: Per: Unit 2: Integer Operations

Quiz 3-1: Introduction to Fractions; Adding & Subftracting Fractions

1. Write as an improper fraction: 3;

. . .4
2. Write as a mixed number: 3 8 F_“T

Simplify. Write your answer as a mixed number when possible.

21 30
3. z 4. 7—2-
0 . s ! 84 _ 4
S 3 g [15 63 'Lg‘ 3019
-8 L 22_
9
Determine whether the fractions are equivalent. (Answer yes or no)
27 18 32 12
T ®s 8 %%
a 4.4
Te ) ;?r 3°3
Compare the fractions using a <, >, or = symbol.
8 7 12 8
9. E E 10. 2 14 11
32. as 24 24
©o o 42 H2

12. The table below gives the lengths of three songs, in minute.
Using the letter names, order the lengths of the songs from
least to greatest.

Song A B C
Length Al 37 33
(minutes) 16 8 5
525 3) 3 18 _ 1%
W & 8 "8 & g0

25
1.1
1
2. 5%
3
3.4
=Y
4. 12
a
5 | 3
2
o 13
7 NO
8. NE&S
E@§
2 5
s so
12 12
[ C A B
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Find each sum or difference. Write all answers in simplest form and as mixed numbers when possible.

5 7 4 2 3
13 %% 4. 5775 8. 1
12 _ 2 10 2z
>% =1 1 1S 15 14 3
A
- Z "
1. 24
A
. . 6. 430
1. 212 16. 35+7 . 2;_-15
11_9a 31 .3 7 —
W& .27 -4l 14 415 = 89 18._2%
24 Zq 24 20 20 20 13 .
—_— N
19. e
4,2 5,51 |22 1o
17. 13_173 18. 2]+26 20. ' L3
3 _ 17 S+ 13
a s 21 b
. _Sl _ 14 1o 43l - lo)
4s s us H "2 2

19. Doug has a piece of tile that is 5 % inches long. If he needs the piece to be 4% inches
long to fit a certain area, how much should he cut off?2

3 _43 = 29 _ 1
) 3

=81 _ 1 . 3 .
| lo o 'N
20. Trina’s puppy Max was 8% pounds at his first vet appointment. If he gained 3-,‘-% pounds
by his second appointment, find Max's weight at his second vet appointment.

NV T 1
34 +31z = ¢+ L

= 309 , 4] _
30 'é};‘%%é =12 2 b
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

MULTIPLYING
%W@m

Follow the steps below to multiply fractions.

@ | write all mixed numbers as improper fractions.
@ | simplify up and down and along the diagonals (if possible).
3 Multiply the numerators to get the new numerator.
Multiply the denominators to get the new denominator.
@ | simplify, if necessary.
Find each product. Give all answers in simplest form.
1155 22,7
"84 5y
y 2 4
a1 .
Ly5 =[s Txy | =
lbo l —_
7 1 1 .5
3. —xl= 4. 1—x2=
165 3°78
LI (4, 287
g,\«lv’ S | = > 4 2
7 3 ) 7 -1
— X == = _X— =
g s ] 2 yA
42 4
13 Z l
3,5 1,7
5. 2=1= 6. 1-.3—
8 7 4 310
l
19, 423 £.3L
2 2 .| J’él
19 3 59 L. 37 371
25 TS 12 g
- S
=l uL =19=
113 g
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2.5 1 .7
7. 2;-]5 8. 22 55
52& . 13 13 5z 2
i 2 3% 9
- g
5.13 _ LS 13 2¢ - 338
13 = 6> 3 27
1T 2 ) 3
)
= 2L . '2_
3\8 21
9.5 .17 10. 425
10 8 10
s E3 4. s
2 4O 8 e
£l.3 .- 1s .2 - 4
2 g o 2 | 2
= a - 4
e OIT; - Z"! 2
5 3.1 1 I 3
11 .38 | %3 1. (_?»_-_é_)
L M B L \2 s
_-'—- o(lé. "-(—’—>
_|_-_’_,+.3_. = n 42 b 10 10
(P Z © o a Ry 2l = ]..L
=44 - _2..-').1. 2% 1D 20 20
7 3 "|'3

APPLICATIONS

13. Rachel has 2% pounds of flour. If she uses % of the bag for a recipe,
how many pounds of flour are left in the bag?

13 a
Zu,’% Z-I;‘IS
545 =) _ 15 BB
e 3 g ?
‘ 1 .30 ols ),
=3 b o ™

13
3

3% |4

L. =
4
1

£z |
5

1 .
33' = \L“é" MI'CS)

14. The furthest Jack has run was 3% miles. If he runs 1 -} times further
than his longest run, how far did he run?
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Unit 3; Rational Numbers

Name:
Date: Per: Homework 4: Multiplying Fractions
Directions: Find each product. Write each answer in simplest form.
1188 2.21.7 3. 2.53
7465 210 3 4
| 5 | l--'—3.. . l = -7 ! é_ - _g_é_ - 23
=—.2. =15 2 o 3 T
02 q A0, 4 }‘rz b
‘ = 3 = 5
[E a2
4 3 7 ~2 3 .5 1
4 1—-— 5.4-.2= 2= ) 0-
ClT 9“5 $ (4”12) 2
13 g 1 2.0}, 3
T . }3; = _‘_?2.. -Ll——?‘é- . _}:?__ = ‘T_'g% 4 Y 12 2
3 0 3 5 a
l » _3_
(Tz' )T
a
..l]IS 326 ) ,_,_3_'__3.1-
yiz z, 4 4

7. if you have 4% yards of fabric and cut % of it
off to make a quilt, how many yards of fabric

8. One cup of sugar weighs, 6% ounces. Find
the total weight of 4% cups of sugar.

will you have remaining? 3 2
Yk .2 yi- |3 bz * 4%
b 3 b 3
e .
3% ’g—‘ e 3 5 ) s
- 2z
-5 2 25 _10 ‘{qu Ouhces/
3° 13 v v | -
15 _ s L
a— = = :22
b 2 yd

9. Kassidy's baby boy weighed 6% pounds at
birth. Find his current weight if he now

weighs 22 his birth weight.
o A
b3 3
'es LY
32 B 3

"5 pourss]

10. There was 4% gallons of waterin ajug. Ifa

4
soccer team drank 5 of the water, how
much water remains in the jug?

L. 1
43 «‘;L Yo - 12
"2 A 33 _ 1
2% %3 g @
29 - 44
=4 ::|_5_ 24 TZT‘T
(7 (7]

= % = E%;, 3j;llon5
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Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

DIVIDING
Gaclions

Follow the steps below to divide fractions.

@ | Write all mixed numbers as improper fractions.

fraction to its reciprocal (KISS!)

0 Change the division symbol to multiplication and FLIP the second

(3} Multiply the numerators to get the new numerator.
Multiply the denominators to get the new denominator.

@ | simplify (if needed).

Find each quotient. Give all answers in simplest form.

]l;é 2i4é
‘4-6 '5'7
_L_\é.s =1 3 24 =1 14
Z“ 5 | 5 /63 -rs—
3. 2.2 a1l
3 3 4 8
-2—'-'—5~ = —2'-..':”;.' _S‘."Lj" = —§--\_g_-z
3 "3 B 5 4 * 8 'R q
5 7“3
3 4 2.5
5.2715 6.]9.6
3.3 18 . s ’l'l""—s- = AL K2
4 s 49 A3 A6 ;4 s
=l 5. z 22 ].l.
12 ) 1S
7.3+2§ 8. 5%+1-;-
A 2 l
3r== 2.5 lo .10 %1y A3
M2y 3 9 & Jos
:_i = ! = 24
g U i kEs

® Gina Wilson {All Things Algebra®, LLC), 2019



5 3 1
9.22:6= 10. 9=+ 4
237%2 3
21.21 T A 22 .4 - 128
2 4 LA 214 3 L 3 4
= = L
=2 3 2-3
18
3 10 3.9 6
.37+ 4 20 25
1z 39 . 265
24+ ' @3 | F5 T
i 2| 1 A 0 s 4
3 415 = L 415
=_‘3_é: '7-—‘- qE g K3
5 S R
2 2%

APPLICATIONS

13. A container of juice contains 10% cups. If the serving size listed on the
package is % cup, how many servings are there?
a2 é. = i-l - é_
10 ~ 4 g 4
S T R T4
z.\& = | 2 | 2. Sorvings

14. How many bracelets can be made using IO% feet of string if each
bracelet requires g feet of string?
-2 U 5 - (95 [] 5
g +2 = L 2

8 © 8
3k = 3
|
E\ bracelets

15. Mr. Kesler is filling test tubes with a solution to use with his science
students. If he has 220 milliliters of solution and each test tube can
hold a maximum of 9% milliliters, how many test tubes will he need?

220+9% = 220+ 2

3

5

=220°_:§_. = 1S _Zg_q_
2% I " .

! 24 +est fubes |
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Name:

Date: Per:

Unit 3: Rational Numbers

Homework 5: Dividing Fractions

Directions: Find each product. Write each answer in simplest form.

1.2.3 2]2—§ 3§;2ﬂ
96 379 8 12
s I LI T £:8 - 5.3 5 .35 g . 13
34 S 1S 3 A -1 8 12,8 354
= L5 ‘ll] 3
=l |2 [z
? E
2 2 7 1 (5 2
4. 8-+ c4=+1= J PP I
°3 4370 _ 1% (6 15)
2., =792 1 H:.le -1 .93 21, (25 _ 4
s s M) 379 13 20 " \3 30
2) .21 124 323
-1 - 2 L - = £0 A
M -21 _[-s :
5 T “12%] | ® 220 21
-3 _
=2 -

7. The bake shop had 3% pans of brownies left
at the end of the day. If they evenly
distribute the brownies to each of their six
employees, what fraction of a pan will each
employee receive?

32, =224 1
33 b T K2
-2
e O @ pen

8. How many strips of ribbon can be cut from a
roll of ribbon that is 4i meters long if each

piece is i meters Ion92

Y = 840 1z Y
l?_ 3” /5]
=32 _ 2
R

E I0 sHips

9. Ablockis % inches tall. How many blocks
are needed to create a tower that is at least

18 inches talle
18 = “i8 1o
lb ) yss
= _ gL
5 = 192
20 blocks

10. Scoﬁ has 183 gallons of gas in his tank. If he
uses — % gallons of gas per mile he drives,

how mony miles can he drive before his
tank is empty?

3 . 3 —_-2515 _7625
8% “&% w5
©2% - (3123 wi
2 |0 &2 W
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FRACTION OPERATIONS waye/

Directions: Evaluate each expression. Write all answers as mixed numbers in simplest form.
Use your solutions to navigate through the maze. Staple all work to this paper!

8 5 1 .5 5 1 3.1
28_2 1~.52 12202 2
9 & 679 6 3 79
16
21
5 1 1= 4 5
22 673 // : 12
7 .5 9 1 1 1
3L 12t 2= 42— 2L __
9712 10 8 3742 12 3
> a
36 12
35 17 3 19 1> 1
36 A/ 7% 145 24 3
31 / 7.1 7.5 a2
4 6 9 '3 12 36 29
2
9
:
4

w

| en

|

ld
Tro

w

L |81
S \&’Ia
T O
o wmxmen /

o=

wni—
+ mlw)
[~

7 21
15 40

=)
2
8lE
@/ 5|
& o
oA

7 17
L 2
8]5 28
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Name:

Date:

Per:

Unit 3: Rational Numbers

Homework é: All Fraction Operat

ions

Directions: Evaluate each expression. Write all answers in simplest form as mixed numbers.

13 5 <g 5 5 o 311 ¢ 1
——_—— = 2 2. —+= =2, 10 IS+ — =2 —
1818 T 276 i Yo 5715 "5 s
. =24 b
=-GH =15 15 15
) |2~ = 35
:_5__ - "ﬁ 15 ‘
4 \ ' =3 2
1.3 .25 95,57 -5 .82 57 .n_2
4.4-6-—]-5 ° g 5.6+5_|0 = o +‘O 6.]]2 ) 12 q
_Jo _33 =25 4 117 =51 _ 28
=37 "3 25 4110 28
30 30 b 30
=kl _[(H1a =202 _ 1ol '
24 |7 Y 22
| Jom o
s
]
7.%-2%3 = 'u‘i' .3 8. 3%-% = 38l , 185 9. 22,31 312 285
4 5 5 37 3 23
=3, = 155 - 15
z0 24 z
=, L _
("zq —"I’i)
15 18 545 22 4 8 1226 2 1 _ 4 . 49
2.2 2 22 11. 2=+4 2326 I 12, 42:4— = 1 2 3L
24 32 324’ 8, 9 a M, 3 12 3 12
- 20 =4
18 _ 113 R
=10 13
—_— = =8 - L
a 2
15 11 3 5(9 3 1 6 12
RELJL S N A 15 —+2.2%
16 12716 1415 (14*4) 15757
:ﬂé_-'_‘_*i-}-_é_ = M [18 421 :’L""E-:L
48 yg o 9 (22 2 5 5 4z,
= J—--‘- _q._- IJJ'!’..Z__‘TB :—L’ —1‘
yg Hg =3-,;,.' 2 IS 10
= Z +2! =|23
=10 s =13 : % 3 |30
48 24 l g
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

ADDITION

1. Elijahis arunning back on a
football team. In the last game,

he played for 4% minutes in the
first half and 7;—(‘, minutes in the

ApphCOhOh@ second half. Find his total playing
fime. Month | JAN FEB MAR
! = | Rain 3 3 19
43+ To T gt =L inches) | %5 | %7 | 3
+ 23 = A + 23
cas i) | ZRVEE TGS
20 ' 20 =3£-+g_7:
-z _ 123 [0, - |
20 o || %6 =19 1 in

2. The table below gives the rainfall
for the first three months of the
year. Find the total rainfall for the
two months with the greatest
amount of rain.

SUBTRACTION
Applicalions

If 2% yards are cut off, how many
yards remain?

4 -9k = 25 9
=50 _ 27
12 12
= 23
A
1\
=|Ti\'0l

3. A piece of fabric is 4% yards long.

4. Luke cleared 2% acres from a 7%
acre-lot to build a house. How
much of the land is wooded?

S .2 =38 _ 1

-3 "o - %
=118 _5)
24 24
=127
24

MULTIPLICATION
Applications

5. Susan has two cats, Benson and
sadie. If Sadie weighs 113

pounds and Benson weighs 1 %
times the weight of Sadie, how
much does Benson weight?

5 .5 -6y, 20"
. al
b

=

155 lbs )

4. If bathtub contains 28% gallons of
water. How much water is left in
the tub if % of the water is

drained?
Zg.é.-3-=13£._2:' = Eé.:ll
‘1 s Z}*/ 3' 2
283 -1 = US_2
8q -112 722
=S _4p
4 g
=1 [ I
e
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DIVISION
Applications

7. A bag contains 2% pounds of
candy. If the candy is equally
distributed to six children, how
many pounds will each child get?

S . :1_2_1_.._‘——
Zg t b 8 Jo2

=‘13‘;— o

8. An art teacher is pouring 74%

ounces of paint into cups for her
students to use. If each cup can
hold a maximum of 4 ounces, how
many cups does she need?

42y 7229
113 3 H
=Y

et

3

8%

|19 cups

—

MIXED
Applicalions

9. Dana needs 1 § yards of fabric to

make a flag. If she has 3| %ycrds,
how many flags can she make?

12 =125, 5
3{7‘1’.'3 "'4"73
s 3
Y =2

- 13

= 184

i|8 flags l

10. Afish tank had 143 gallons of
water. If water is drained from
the tank so there is now 11 %
gallons, how much water was

drained? 4
5 3 _ 3 _ 4s3
He -llve ° & ~ o
= 585 _ 483
Yo 4o
= 132
1o
=33 _ 3
o 3;‘53@1?

11. Evan ran to miles. He ran the
first mile in 8% minutes and the
second mile l% minutes faster

than the first mile. Find his total
time.

33+ (83 -1%)

5, (58

u

3 3 1S

:Eé-\»(&s_-?:}_

) \s 1S
1S + 1S T 15 =545
MiN

12. Jake weighs 73— pounds. If
Hunter weighs i— the weight of
Jake, find the difference in their

!
']3:'- .S —SS..M ._‘5.."
5 @ 345 '3
= qs = bl%‘-

© Gina Wilson (All Things /\lgebrc(". LLC), 2019
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Name:

Date: Per:

Unit 3: Rational Numbers

Homework 7: Fraction Operations Applications

** This is a 2-page document! **

Directions: Read each problem carefully, then solve.

1. Greg dropped a bouncy ball. If reached 5%

feet on the first bounce, then 2—0 as high on

the second bounce. How high did the ball
reach on the second bounce?

5_1. .___ "1:1_’2 fr_.g
20 ) S 20
5
= 4.3
I s
= 12 - 2
s T\Zs5 Tt

2. Natalie and Caroline went flshlng Natalie
caught a fish that weighed 8 pounds and

Caroline caught a fish that welghed 122
pounds. How much heavier is Caroline's fish?

|2% "8?5 = 11 g_—'_
G )
= 38 - 2]
30 30
= |2-") - (pL - 2
30 s L’f's" I

3. Acleaner is made by combining 21—52 cups of

cleaning solution with 5% cups of waterin a
sprayer bottle. How many cups of cleaner
are in the bottle?

s 21 | 23
ll +5q 2z T
=29 + b2
1Z 12
=98 . ‘-M A
2 < =184 Cu

4. Camille's baby Aiden was 20% inches long at

birth. If he is now 22% inches long, how many
times longer is he than his birth length?

225 204 = L :E
w5 w2
1 £ 8t
- 10 4
iy | 5
+Himes lon@eﬂ

5. Kayleigh ran 4% miles and walked 1 g miles.
Find the total distance she traveled.

2 +15 = 44 LU
1541 ° 9ty

= 88 , 33
IX 12

=121 _ 113
7 = (,,'g milés

6. An orchestrais playing a piece that is 6%

minutes long. If they are % through the
piece, how many minutes are left?

(03_ ' l?ﬁ Zz!
3 48 3.
"= min
év ..L: 5_‘, 1
LT 8 '*%
= |34 - .‘-—~ = LY
%—- e g -—_z?mm
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7. Lisa has a piece of wood that is 12% feet
long. If she is cutting the wood into pieces
that are ls}‘ feet long, what is the maximum
number of pieces she can cut?

Z—L."i = 2_'..\._?__
= Ll 8!
-
) 7
I picces

8. A bag contains 317_0 pounds of peanuts.

If Joe eats 1 % pounds, how many pounds
of peanuts are left in the bag?

32_ _I.I.L = .3_2.. 26,
1D IS 10 1S
-l _s2
30 30
=59 _ 2
30 ‘2% b

9. Zac combined 5-;— cups of iced tea with

3]'—2 cups of lemonade. If he divides the drink
evenly among 5 people, how many cups will
each person get?

10. Mary has 711—2 square feet of wrapping

paper. If she needs 1 gmore paper than
what she has, how many more feet of paper
does she need?

2 N W by ) 7 4 ‘:'ﬁ ,§_2
5§*‘3|z"73"+% —|t2_’|'5’3"3hz 5,
= b8 .27 - 105 35 _
A -2t . iz =28
- 3 . .
3 . = 35
8% 15 = 3215 3
=1 -
-5 o % =[G o

Write a word problem that can be solved using the given expression. Then solve.

. . . Solve:
11.2%-% Ella's hair is 22 feet long . 25:- T
If she cuts O?T%Pcd of hair -5l 5
0 donate, how 1Qng is her hair? 18 18
=44
18
=22
,fl____
9 1T ° |
38 . 3 Solve: " 2
121225 _Richard thvew a football 125 nf- %k - 8.2
meicrs. His brther Thomas Threw 1A ’}55
he Same fastball & of +he 1.2
distance. How far did Thomas Hhow LS
5 =34
The ball? 5
=[,,-‘§'- mets
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Name: Math 6
Date: Per: Unit 3: Rational Numbers

Quiz 3-2: All Fraction Operations & Applications

Directions: Find each sum, difference, product, or quotient. Give each ]

answer as a mixed number in simplest form. ‘ -q.
L 2.7 5 1. 2 1.
. —+— . 2——-=
312 6 9 11
$,1-15_5 3.2 .31 _4 2 118
e 1A T T = 9 1€ 18
2 12 12 3 3
=35 3. 2§
18 s
“ =
3 1—5—+]—:i 4 3—3——21
6 24 10 15 g
__LL+ lg - :ti +—|:—3_' _‘23_ -é:l_ ; 31 _ ﬁ 5 __JS____.
b 24 24 24 o 1S 3 30 L}Z-.
:.§_1 - ::__2_§, 63
24 g 0 1
"9 g 5 7 7 , 1
| T W2 - li 8._ 14
—-% - g X 3 3 n
1
0. 213
8 12 7 ]
— = 2 —+4-
15 25 8. 10 5 o
255 21 .2 ' s
Lf;‘ A-Z %12 1o s 240 2
3 3 7
=,
14
1 5.9 1 1.1
9. E-‘l‘glﬁ 10. ]6 5+]2
A e .9 1.1, 3
+£ .19 e & 3.
v "% T, L ° +7_
L 9 _ 35 _ b 3 2 4g
+ -~ -20_.5s = =2 ___;_ﬂ.g.___-:’_&:._?"
117 b lo T_"’ 30 30+ 2 30 30 30 ",'5"
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Directions: Read each problem carefully and solve.

-
11. Alyssa used a can of paint that was g full to touch paint in her 1m.__15
house. When she was done, the bucket was % full. What
L
fraction of the can did she use? 12. L) —, 2 1b
-—5- - -LL - .Z_§- —_ll. = '1 = 7
L 30 30 32 30 B 1318 la.‘os
L R
14, 3‘_,5 mi 'ﬁS
12. Each bag of sand weighs 7% pounds. Find the total weight of -
62 bags. 15._(p20 gallons
19
—l —L 3 (0 E" = g ws
8 3 _— —
2 £ Z
=112 .5 _ a5 _
A SR

13. It takes Casey 2% minutes to complete one lap around the track. If he has 40 minutes, how
many full laps can he complete?

4o + 3 = ’_-}_9 . 35

lo | - _IT;
g
L3, 7 L

14. Lanson biked 1% miles to the library, then l-;- miles to the park. How far did he bike

altogether?
13 e = 3 .‘é—
g+ 7= 5+ 3

= 84 s _ M1 . L4
5 w5 T us - 38

15. Violet had 14% gallons of gas in her car at the beginning of the week. At the end of the
week, she had 6% gallons. If % of the gallons used were from driving to and from work, how

many gallons were used for work?

4L = 1t - 19, = %_—2’}. - ﬂi = 127 = 1
l“ls (03 5 3 1S 15 —"‘ls - 27‘5’

4 S

L .3 - 121,32 121 - 2
315 ; o Zl = L
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

BASE-TEN
SYSTEM

The base-ten system can be used to model a part of a whole.

E%WE

B I Y [

3 U P (5 CA (3 1 (0 004 )
8 3] 1 1 ) A O

m I ] [

1 one (1 whole) 1 tenth 1 hundredth

DECIMALS
1 place vafue

A decimal is a number written using the base-ten place value system. The
decimal separates the whole number part from the part that is less than one.

whole number less than one
. ten- hundred-
hundreds tens ones tenths hundredths | thousandths thousandths | thousandths

Standard Form: \ . 83 Expanded Form: |+0.8 + 0.0 3

Word Form: OW\A ) -thve

Write the number as a decimal in standard form.

1. sixteen and five tenths 2. seventy-eight hundredths
\b.5 0.71%

3. three and sixty-one hundredths 4. four and seven thousandths
3. bl 4.001

5. eighty-nine and two tenths é. twenty-five ten-thousandths

9.2 0.0025

7. one hundred forty-seven and six 8. seventy-three and nineteen
thousandths hundredths

147.00b 13.19

Write each decimal using words.

57 Five ond_pine tenths

% Four hund redths

" 7% Seventeen ond twenty - eight hundred+hs

2 3% Thyee oind SixH-one HhouSand+hs

® Gina Wilson (All Things Algebra®, LLC), 2019



COMPARING

L sudeuing

Place value can be used to compare decimails by lining up the numbers
at the decimal. Insert zeros so that each number has the same number of
digits following the decimal. Compare the numbers below using a
<, >, or = symbol:

017 (>) 0.0932

Compare using a <, >, or = symbol.

13. 4.08 @ 4.203

14, 0.702 @ 0.2219

18. 1.159 @ 1.18

16. 38.00952 @ 38.0316

Order from least to greatest:

17. 0.15, 0.008, 0.701
0.00%, 0.16, 0,701

18. 2.009, 2.48, 2.0302
2.009, 2.0302,2.4%

Order from greatest to least:

19. 7.042,7.09,7.0751
1.09, 1.01751, 1.042

20. 1.01, 1.101, 1.11

{1, l.1ol, l.O1

21. Blake ran the 50-yard dash in 10.012 seconds. If the school record was
10.009 seconds, did he beat the school record?2

NO; his Bme was higher than the record

ROUNDING
decumale

To round a decimal to a given place value, look at the digit to the
right of the place value. If this digit is less 5 or higher, we round up.
If the digit is less than 5, we round down.

Round each number to the indicated place value.

22.0.15; tenths

23. 1.33333; hundredths

0.2 1.33

24. 58.90261; thousandths 25. 9.04; tenths
5¢%.2403 9.0

26. 2.2958; hundredths 27.16.2832519; ten-thousandths
2.30 12833

28. The atomic weight of iron is 55.845. What is the atomic weight of iron

to the nearest hundredthe

55 .85

® Gina Wilson {All Things Algebra®, LLC), 2019




Name:

Date: Per:

Unit 3: Rational Numbers

Homework 8: Decimals & Place Value

Directions: Write the number as a decimal in standard form.

1. fifty-nine thousandths

2. twelve and seven tenths

0.059 12.7]

3. one hundred eight and four hundredths 4. thirty-one and sixty-five ten-thousandths
10g.04 3]1.0065

5. nine and eight thousandths é. one-thousand forty and three hundredths
9.00% l040.073

Directions: Write each decimal using words.

7.4.28 8. 18.007

four and fwent eight eigh+een and getven

hurdred +hs ousandtias
9.92.1 10. 156.0014

nine - two and one tenth

one Nundred 4 siX and
fourteen Ten-thusandtns

Directions: Compare using a <, >, or = symbol.

11.  3.009 @ 3.02

12 1.198 @ 1.390

13.  0.201 @ 0.1084

14. Order from least to greatest:
16.04, 16.1, 16.0092

L0092, 1b.04, 1.

15. Order from greatest to least:
0.0702, 0.00095, 0.1014

0.1014,0.0702,0.00098

16. If Jeremy has a batting average of 0.5014
and Alex has a batting average of 0.50098,
who has the better average?

17. Mia's top three times for the 1600-meter run
are 6.07, 6.112, and 6.045 minutes. Which of
these times is her fastest rune

-t — .
Jevemy [.045 min
Directions: Round each number to the indicated place value.
18. 2.0845; hundredths 19. 13.951; tenths 20. 14.021555; ten-thousandths
2.03 14.0 14.0214
21.190.10162: thousandths 22. 340.172; hundredths 23. 8.099; tenths
190.102 340.17] 8.1

24, Samantha spent $24.49 on lunch. To the
nearest dollar, how much did she spent on

lunch?
$24

25. The width of a board is 5.10529 inches.
Round the width of the board to the nearest
thousandth of an inch.

5.1051N

® Gina Wilson (All Things Algebra®, LLC), 2019




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

To add or subtract decimals:

ADD'Nq 8 0 Line up the decimal points.
SUBTRACTING | @ | insert zeros when necessary as place holders.
dedmals © | Add or subtract as you normally would. Bring down the decimal.
EXAMPLE1 | 7.19 + 3.54 EXAMPLE2 |2.372+ 168
.19 7.312
+3.54 41, .800
|03 19 .1 12
M9172]
EXAMPLE3. | 6.407 - 2.192 EXAMPLE 4 | 42.3-3.905
(.90 §g.538
~2.19 2 - 3.905
H.215 3%.395
4.215] 38. 396]
Find each sum or difference.
nOpE 1.5.91 + 8.308 2.7.24-3.98
L b
EXAMPLES 5.910 3.34
+.30% -3.98
|4 .218 3.20
i 14H.21% _3.2;|
3.6.7-2.156 4,7981+8.5
bq
(- F3s° .98
'chS(a +?‘500
.54 4 o, 78 |
‘ 4 544 ] L1u.dg! ]
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5.21-16.83 8. 47.63 + 23.496
llbq \0 U |
L3199 47.6b30
Tlb.83 +23.490
4.1 7 71.120
4,17 [71.020]
7.27.001 - 18.64 8. 39.985 + 68.9301
[ R
2500 ( 394 9850
- 18.Lb40 + (L3930
g .30 I 168.9151
g.3| ll_o&‘nsﬂ
9.703+11-2518 a o 10. 16.}‘42— 15.7 + 6.82
1.03 1§62 G V442 0442
411.00 - 2.518 -i18700 t+p.g20
13.03 15.512 04472 1.2 02
15.512 1.202

APPLICATIONS

11. If Song A is 4.02 minutes long and
Song B is 3.8 minutes long, how
many more minutes is Song A
than Song B?

12. Casey had $560.94 in his
checking account. If he deposits
a check for $96.18, then spends
$17.05 on lunch, find his new

a ‘02, bclllonce. "
‘ L[]
S 5,094  _©8112
7330 + quag 1105
—_— 40.071
0.22 min $H0.077
13. Earth is approximately 390.84 14. Jacksonville, Florida, is 554.58
million miles closer to the Sun miles from Charleston, West
than Jupiter. If Jupiteris 483.8 Virginia. Charleston is 217.8 miles
million miles to the Sun, find the from Cleveland, Ohio. If the
distance from Earth to the Sun. three cities lie on the same
3 j§§ \71 o longitude, find the distance from
A¥% 8w Jacksonville to Cleveland.
- f
390.84 554.58
22.90 +2177.80
ves e
7172 38
92.90 vrnhulhogf 1172 .38m;
PR
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Name:

Date: Per:

Unit 3: Rational Numbers

Homework 9: Adding & Subtracting Decimals

Directions: Find each sum or difference.

1. 16. 749+0826 2.23.4- ]8‘.9 3. 7.6—2.83‘
VALE 23 4'%e
T 0.€20 -1g.9 - 2.83
r 0.820 -2.83
| 1.5718 — 9.5 4.7
1515 l4.s 4.1
4.6.25+11.952 5.15-9.48 6.11.6- 2.;5073 + 4.05
" 1
(»-250 P 3 “2"232% 9.027
+11.952 - 2.48 oz tieso
18.202 5.5 2 ' 13 .01
12,202 5.52 13.01]

7. If helium has an atomic weight of 4.0026 and
oxygen has an atomic weight of 15.999, find
the difference in their atomic weights.

15.99¢ &
H 0020
[1.990L 4

—

(1L9904

8. In the 100-meter freestyle, a swimmer swam
the first half in 31.4 seconds and the second
half in 32.68 seconds. If his previous record
was 64.015 seconds, did he beat his record?

3.4 0
132.68
Lb4.0¢

No he did not
beat the vecord

9. Susan has a coffee shop gift card with a
balance of $14.03. If she uses the card to
purchase a coffee for $3.89, find the new
balance oq the card.

13.9¢°
T 3.9
] 011

‘ $10.14 |

10. Jeremy ran several laps around the track.
He completed his last lap track in 1.89
minutes, which was 0.35 minutes less than his
first lap. How many minutes did it take him to
complete his first lap?

1.69
40.35
2.2

[2.7_"-} min

11. A baby boy was born weighing 7.12
pounds. The next day, he had lost 0.8
pounds. He was weighed again the
following day before going home with his
mother. If he had gained 0.29 pounds, find

o hus weight when he Ieft the hospital.

‘1*1 032
-0.80 +0 .29
0.32 L.bI

bl b

12. Darryl set a timer for 35 minutes to work out.
If he finishes his work out after 32.84 minutes,
how much time is left the timer?

3838
-32.84

2.106

2.1 min

® Gina Wilson (All Things Algebra®, LLC), 2019




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

To add or subtract decimals:

@ | Line up the factors so that the last digit in each number dlign.
MULTIPLYING o 1 -
: Multiply as you would with whole numbers.
OI@CITY\GIIS (3) Find the total number of digits past the decimal in each factor.
The product will have this number of digits past the decimal.
EXAMPLE 1 | 4.68x8 EXAMPLE 2 | 0.092(4)
H.08 0.092
x 8 y
37.44 3068
|z7.44 [0.208]
EXAMPLE 3 | 5.8x2.2 ‘EXAMPLE 4 | 1.3(12.452)
5.8 12.45 2
X2.2 X 1.3
Il b 37350
11 b 0O | 2452 )
- —2 T8 76,
| 2.7 b 1270 1 b 18 1€k
Find each product.
”OQE 1. 7.65%2 2, 21 78(]5)
EXAMPLES 1:LS 2.113
X 2 X 15
) 0890
/5.3 z' 178 O
52 | 32,70 (32.07
3. 0.6(0.3) 4.1.02x0.8
0.b .02
x0.3 x 0.%
A8 g 1b
0.13 0.81

© Gina Wilson (All Things Algebra®, LLC), 2019



5. 0.005(0.04) 4. 13.84x0.97
0.005 13.84
X 0.04 X 0.97
00020 90 38
|z4 5 O
lo.00020] |/342 %%  [@az4g
7. 8.1x3.72 8. 1.9(12.408)
3.12 12.408
x 9¢.) X 1.9
312 1t 112
297 b O {2408 g
D1 3 2 2357185
30 30.132 Z 23515 2
9. 0.0032(14.9) 10. 25.4%x16.25
0.0032 .25
14.9 x 25.4
28 % ??gg%
380 p5b0 0
g7 0 ¢ 0.047bg fil 2.1 Y1218

APPLCATIONS

11. A plant is growing at about 0.65
inches each day. Find the
change in the height of the plant
in 12 days.

0.LS
X V2

(o

!
b
=

0
0
0]

(o)

'1.8'ml

12. Alana bought 2.45 pounds of
oranges. If the oranges cost
$1.39 per pound, find the total

cost.

2.4%
x1.39
2205
73S g

245 O
3H 055

3.4

13. Greg's car gets approximately
18.9 miles to the gallon. If he is
trading in his car for a new car
that gets 1.25 times this, how
many miles per gallon does the

14. Pumpkins cost $0.79 per pound
at the fall carnival. If Misha picks
outs a pumpkin that weighs 21.82
pounds and pays with $20 bill,
how much change will she

new car get? receive? 19 4.0

1.9 2).82 - 319,'3‘?4

X1.2S X 0.4 79 G

9 s 1938 :
1316% ‘521:; $11.24
1723 317

iﬁ%%ifgd (%%giu 5270
oY © Gina Wison (All Things Algebra®, LLC), 2019




Name:

Unit 3: Rational Numbers

Date: Per: Homework 10: Multiplying Decimals
Directions: Find each product.
1. 287x9 2. 0.62x0.45 3. 0.008x15.4
2 .%; o.gg_ 0.008
X1 X 0. X 15.4
25.9 3 310 —37
24 g0 400
-390 _g00
' 1232
[ 25.33] 0.21 0.123Z
4. 5.17(21.2) 5. 6.8(0.0024) 6. 3.18(1.526)
5.1 0.0024 |.52¢
x21.2 X b.8 ¥ 3.18
1034 19 2 12208
51710 |44 0 152060
1034 © Oq_ 51632 45 18 0 2
]0%.6 0 ’ 4gs5 2 b
109 ot 0.Dl(p32 [4.85203

7. A bottle of water contains 16.9 ounces. How
many total ounces of water are there in a
case with 24 bottles?2

v9
24

olkhe
e d
s|Os

405. U 02

8. Natalya's credit card offers cash back
rewards. If receives $0.04 back for each
dollar she spends, how much cash back will
she receive if she charges $861.952

Q! .95
x 0,04

3FAITO

| $34.42

9. Malik bought 0.8 pounds of turkey and 1.45
pounds of ham from the deli. If turkey costs
$6.49 per pound and ham costs $4.85 per
pound, find the total cost.

49 H.85 5.19
x 0.8 x145 +7.03
5192 _:ltg?i-[g—é—_igi 12.22
T.032°
$12.22

10. Abraham ran 3.18 miles on Monday. On
Tuesday, he ran 1.6 times further than he did
on Monday. How many more miles did he
run on Tuesday than on Monday?

x3')(o 3 Bz

£ -3.180

19083 ————*6""‘
3180 1,908

5.088

K }.908 W\')]

© Gina Wilson (All Things Algebra®, LLC), 2019




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

DIVIDING
by Whole lumbers

Recall: The first number,

or top number, is called

the dividend and goes
in the box.

The second number, or
bottom number, is called
the divisor and goes
outside the box.

To divide a number by a whole number:

Slide the decimal up.

@ | Divide as if you are dividing whole numbers.

© | Insert zeros in the dividend when necessary.

(EXAMPLE | 42.3+9 EXAMPLE2 | 56.52
e 6
q ‘1203 12
-36 bl506.5 2
b3 - 54
- L3 25
) -2 4
12
-12
' D
[47) Q2]
"EXAMPLE3 | 13.8+4 'EXAMPLE4 | 0.72
q 3.45 C]>81-{
] 1I3.80
-2 19 lO.'SZ
i B
-712
29 —
-20
5)
3.45 0.0
'EXAMPLE'S | 43.26+3 EXAMPLE § | 1.52
| .
3[43.2¢0 . |
-3 l1.62
- 3
13 72
| 2 =12
-12 o
00
-3
14.42] 0.11

® Gina Wilson (All Things Algebra®, LLC), 2019



APPLCATIONS

1. If 50.4 ounces of lemonade is
poured equally into 8 cups, how
many ounces are in in cup?

L. 3
<z|50.'-l
- 438

e

24
-24

P

o)

2. Eliza paid $16.80 for a 40-pound
bag of dog food. Find the cost
per pound.

4z
yolTu.g0
A%
20
...80
O

042/t

3. Marcy pays per text message
that she sends. If she sent 124 text
messages last month and paid
$16.12, how much does she pay
per message?

43

12412
-izd

31Z
312

0

i $0.13/messaq €l

4. Julia and her two sisters went out
to lunch. If the bill came to $47.22
and they shared the bill equally,
how much will did each person
pay?

15 .14
3 ‘ 41.22
-3
t7
15
22

-2
S:tls.w ]

5. It took arunner 11.4 seconds to
run 50 yards. How many seconds
on average did it take the runner
to run each yard? Round to the
nearest hundredth of a second.

12

-1 yA

sl B
6. There are 11 servings in an 86.4-
ounce bottle of orange juice.
How many ounces of juice are
there per serving? Round to the
nearest hundredth of an ounce.

. 228 1.85
50 [11.400 ) ?'(3'-“‘00

-100 -

T 3
-lOO 0
—4Goo —55O

~400 5
iad 44
o
(0228 sec \ 71.95 o0z

® Gina Wilson {All Things Algebra®, LLC), 2019




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

DIVIDING
oy ofecun-afle

To divide a number by a decimal:

@ | Make the divisor a whole number by moving the decimal over.

0 Move the decimal over in the dividend the same number of places
as you did with the divisor. Insert zeros if necessary.

© | Rewrite the problem and divide.

- 1.8 18
Mo l 272 1.3
Sl 1813 1.4
T - 120
-112 5 4
o) -54
(0]
‘ \7] , 1.3
EXAMPLE3 | 612 , bl2 EXAMPLE4 | 29.25+2.4 3
005 ' & - 292.5+24
| 22 -
24[Z92.5000
5{12.0 e
-5 ~ Bz
N -He
-10 45
- - 24
12 510
-10 192
2% 180
zze 1224 —'7"’-—"— (1218335
- EXAMPLE5 | 30 5 3000 EXAMPLE § | 44.1:2.45
0.08 g Yy |0 + 245
315 | g
gl18g0¢° 245 1410
27 - 248
T O - 245
Eb 1960
4D -1960
~4D o
o)

RS

[1e]

® Gina Wilson (All Things Algebra®, LLC), 2019




APPUCATIONS

1. A tower of blocks is 18.2 inches
tall. If each block is 0.7 inches tall,
how many blocks are there?

182
1

b
Aez

|
-1

3.2
(o

.LOQN

i
NN

\
o

2o blocks

2. Nick used 15.5 gallons of gas to
drive 334.8 miles. On average,
how many miles did he drive per
galion of gas?

334.8 5 3348
15.5 185
2{.b
|85 lasﬁz.o
-310
24¢%
-1 85
Q930
-930
- 0

3. Jelly beans cost $6.45 per pound.
If Marcus spent $7.74 on jelly
jeans, how many pounds did he
buy?

14 5, 114
4S5 bHS

| .2
bqslﬂﬂ‘t o)
-b45%
1290
-1290

o

1.2 b

4. The toll to drive on a certain
section of a highway is $0.80.
If Nicole prepays $50, how many
times can she drive on this section
of the highway?

50 500
.80 - g

2.3
.0

86

4
yA

-"-}
-4

Yol N
O

S O

oloS

EZ. Himes

5. Trina is cutting ribbon to make
bows. If she has 7.5 yards of
ribbon and she needs 0.4 yards
for each bow, how many bows
can she make?

é. If a quarter is 0.07 inches tall, what
is the minimum number of
quarters needed to make a stack
that is at least 2 inches tall2

yA N 200
1.€ S5 15 .01 ]
0.4 H 2%.5
| 8.15 i l20 0.0
4]75.00 __-'-'L-bo
-1 -56
35 40
-32 -35
30 18 bows) 35
—z% 29 quavieds
=20 —
-0 © Gina Wison (All Things Algebra®, LLC), 2019
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Name:

Date:

Per:

Unit 3: Rational Numbers

Homework 11: Dividing Decimals

** This is a 2-page document! **

Directions: Find each quotient.
1. 26.6+7 2 13.2
3.8 g 1. bs
1[20-(0 8‘!3.2.0
- 21 - XA
506 s 2
-50 -43
) 40
T
23]
3 4928 4, 0.12+15 .008
T4 | 2.32 \s i o0.1220
4}4a.28 L
-4 - O
[o)| 1 20
;E_{_ -120
|
-12 ©
og ,
=& [2a2 [o.002 |
5.324+45 o 324 + 45 6.182+175 o |g20+1118
.2 [__'_Q_“i
45 [324.0 Heligze.0
-315 BT
a0 - D
-90 100
° T
0.4
25.13 2513 8.5.166+63 I 5) L, %+ L3
" 7.8 AR 0.8 2
r.__.é.é 63[51.uL
7181251 3.0 -0
_2_‘2_'1__- s b
-3590 o
(o) - 126
- (0]
3.5 0.82
® Gina Wilson {All Things Algebra®, LLC), 2019




289 , 2390 8, 8100
T35 7 528 oz Y B
.8 11 2.5
425 {2890.0 72 [8100.0
-2550 -2
340 O A8
© -144
e x
-8 - (‘O \12.5

11. Nine packs of crayons cost $21.51. Find the
cost of each pack of crayons.

21.5)

12. Sound travels approximately 12.3 miles per
minute. How many minutes will it take
someone to hear thunder is it strikes 85 miles

a 2.39 away? .
q[zr.s 1 35 5 350 123[850.0
18 23 123 -738

35 1120

27 1107

g 13

-8
O .
E¢z.35 7 minwkes

13. It took Elijah 2.4 hours to run 13.8 miles. How
many miles did he run each hour if he
maintained a constant peed?

3.8 5 1383 5.15
2 .4 zd 24_,'3%'00
18 O

-1 8
I 20

-12.0

(o]

5.75 miles |

14. At the end of a night, there was $48.60 in the
tip jar at the coffee shop. If there are five
employees and they split the tips equally.
how much money will get employee get?

Hivo S5{48.L0
- 45

E

-35

| O

- 10

$a12] O

15. How many sfcumps can Michaela purchase
with $30 if each stamp costs $0.28%

30 , 3000 \ o
-28 28 28[3000.0
-2%
20
-0
zoob
__L.ﬂ—q-s
-2%
107 s’mmpﬂ | Z

16. It cost $13.40 for 4.5 pounds of chicken.
How much did it cost per pound?¢ Round
your answer to the nearest cent.

12.{0 , 134.0 I,__Z_ﬂll
44 0
-I_-}D.‘)
350
-3185
350
¥2.98 | :_5_31_35__

© Gina Wilson (All Things Algebra®, LLC), 2019




ADDING & SUBTRACTING DECIMALS

DECIMAL OPERATIONS

1. 1396 + 4.025 2. 120l—$»4.8‘2° 3. 47.58 +121.7
13.9L0 (28.089
S5se o s
s —_— atet-t”
171.988 [ 35.18 1L9.2%
MULTIPLYING DECIMALS
4.17.6x9.8 5. 18.23(0.44) 6.1.7x1.35
I1.L \8 23 (.70
X 9.% 0.l x1.35
) 408 ‘I 292 €50
1584 0 109 38 0) 510 %
DFEL 1601 2 1700
22950
110248 . bl 12 2.29
DIVIDING DECIMALS
7.1422+6 B g, 1018 0 27
z3. T4 2.545 25
. 10,
b ';‘_2 z 4{10. 180 25(210.0
pll. -3 -25
i 3 e
ﬁ’é -.——2—%‘ 200
- -1l -200
-2_0
23.7 0 |2.5%] [10.8
10. 5.04+0.28 1. 1872 12. 1.35-0.003
| 8 1.6 450
-23 o} 137.2- -2
224 -l 1S
-224 Z1 -5
- -1b 00
O RS -0
-z o
o

© Gina Wilson (All Things Algebra®, LLC), 2019



MIXED OPERATIONS
13.18.1-16x0.28

14. 5.65+0.2 ;; 3.075 15. 17.2(3-2.58)
. )
~ ',fg £.58° 2[se.50 23.250| 38w 7.2
ak - 448 g r 3.015|-2.68  x .42
320 13.62 o 31.325| .42 34 4
qFe 2 g 8 O
' °% 7.2 24
10
il L
13.62 31.325 (7.224]
APPLICATIONS

14. During a hot dog eating contest, Alan ate
23.9 hot dogs in 5 minutes. How many hot

17. The dinner bill for a large group was $125.96.
dogs did he average each minute?

If the waiter adds a tip in the amount of
$25.19 to the bill, how much will the group

pay in total?
5 125.90
-zgq + 25.19
-35 151.1%
A48 418

_owdﬂs
18. There are 14.2 gallons of water in a fish tank.

If 3.518 gallons are drained, how much water
is left | the tank?

$)5).15

19. A cab driver charges $2.19 per mile driven.

211 910
(%, -9Q

——
10.b 32

How much will the driver charge for an 8.3-
mile ride? Round to the nearest cent.

2.19
X 8.3

b5
176520

|

1082 gallons !

e

20. Sasha deposited $75 in her daughter’s school

g.1 7171

lunch account. If each lunch costs $2.60,
how many lunches can her daughter buy?2

29. 13
20\ 1500.0 X1.2
- 520 38
2300 126~
-2080 l29.0
2200
-2080

21. Each step on a stairway is 7.2 inches tall.
If there are 18 steps, find the total height.

/170

73 lunches

\129.0 in

©® Gina Wilson (All Things Algebra®, LLC), 2019
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N

ame.

Date:

Per:

Unit 3: Rational Numbers

Homework 12: All Decimal Operations

** This is a 2-page document! **

Directions: Find each sum, difference, product, or quotient.

1. 141.2-79.83 2, 38125+17.9 3. 136.842+91.07
1ot
eIy 38.125 136.84 2
- 19.83 +17.900 +9q1.010
419"
1.3 5(,L.025 2217.9) 2
.37 56.0 221.9]2
4. 48x0.35 5. 22.4(6.12) 6. 4.836(0.05)
43 22.4 4836
X .35 XbZ X 0§
240 148 24180
o 224
|t o (34400
BH40°
| ©.8 O 13 7.0 8 4
fiu.x] [27.088
7. 11.68+4 g 1:26 %.98+35
2 2 12 .
: . 10 asfag.o
4711 ue Y ATREYNS .70
- 3 -12 28 0
3 b ob -
-3 6 -0 22 4
0¢ )
-8 - 0
[>) ° .
2.92 2.3
10. 087 11. 5.8+0.08 12 54
0.3 2.5 12.5
2. 35860 4.32
318.71 -506 125 [540.00
- b 20 -500
21 1l 4o o
-217 tf‘% -315
- 250
o o —2550
12.5 S'—l.sz

® Gina Wilson (All Things Algebra®, LLC), 2019




13. 44.1+3x0.75 14. (0.98+15.)+0.4

yA
‘ q --—‘ ' thg 400
30 ous e 1D 4[Tvo. 8
;%;_'r‘ 135 W — “30
1z 1022 o7
21 11025 g
-2 * s I
=5 D
11.025 40,2
15. Eric earns $8.30 per hour at work. If he 16. Jess bought 3.2 yards of fabric and paid
worked 16.85 hours this past week, how $24.96. How much did she pay per yard?e

much will did earn? Round to the necarest

cent. 1.8

x 230 _'_—_"Z:?;;(o

0000 -250

5055 0 O
1348000

J39,g5 5 0 M '}E

17. A gauge on Sam's car indicates that he has | 18. Mia likes to practice her multiplication facts.

178.8 miles left until his gas tank is empty. If she can correcily answer one problem
If he drives 60.25 miles to his visit his mother, every 0.048 minutes, how many problems
then 83.9 miles to visit his friend, how many can she correctly answer in 3 minutes?
miles does he have left to empty? b2,
o)
RER RS 11255 4g[2000.0
- b0.25 73320 - 282
—T% 55 34.65 120
RR -qy
i
. -2
34.65 miles ) (b2
19. Six friends are splitting the cost to rent a 20. Vance ran 5.4 miles on Saturday. If he ran
boat. If the total cost is $194.20, how much 1.2 times further on Sunday than he did on
will each person pay? Round to the nearest Saturday, find the total distance he ran on
cent. 32.3L0 both days combined.
L] 194.200 5'2 ‘;-‘j}g
Iy ] O g 11.88
-z 54
22 X
-18 :
40

i$32,37l 11.88 miles

Ll
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Name:

Date:

Math 6

Per: Unit 3: Rational Numbers

Quiz 3-3: All Decimal Operations & Applications

Evaluate each expression.

1. 482+16917

4.82 o
+lL.917]
2 1.137

7. 20+3.2

25
32 ‘200.00

2.150-138.79+21.6

18208 .2]
138,79 +21.Lb0D
B 32.8 |

4. 0.192x40

10. 11.8+20.68+8

R T

1._21.137
o 32.%]

s 123.38

a.__1.Lg
5._52.219
6. 26-4
7._ .25

8. 17

9. 106.8

10. 14.385

{1.800

+ 2.585
[9.385

© Gina Wilson (All Things Algebra®, LLC), 2019



Directions: Read each problem carefully and solve.

11. An elevatoris currently 16.9 feet off the ground. If it ascends 11. 4).45 'FCG‘J'
32.35 feet, then descends 7.8 feet, how far off the ground is
the elevatore

1L-90 4d.¢5 12.817.65
+32.35 - 1.80
Ja.25 Lfl.‘fs 13. |2.3502

14. 3%.071 miles

12. Beth is buying 2.6 pounds of coffee beans. If the coffee costs
$6.79 per pound, how much will she pay? Round to the

ul ,;
nearest cent. 15. Pl ecés

6. 79
X 2.6

13. Ajug contains 74.1 ounces of fruit punch. If the punch is evenly distributed to six people,
how many ounces will each person get?
12.35
b[4.10

- b
14

12
2|
- ] i?___
14. Josh ran 84.6 miles in June. In July,'l"iaeE 5Fcln 0.55 times this distance due to an injury.
How many more miles did he run in June than in July?

g4. b INERS
Xgé_—__i - 44.53
‘-}2‘1\3 5 0 38.071

H6530

15. Declan has 65.8 meters of wire. If he is cutting the wire into pieces that are 1.6 meters long.
how many pieces can he cut?

Brrxs

l.}

O ———

I8
Zle

-

o

— NS
(]

© Gina Wilson {All Things Algebra®, LLC), 2019
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

R ATIUN AL Recall that any number that can written as a fraction is
called a rational number. Therefore, any decimal that can written
NUMBER as a fraction is also a rational number,
To write a decimal as a fraction:
N > READ IT (to determine place value)
thng DEBIMALS » WRITE IT (using the place value as the denominator)
as FRACTIONS > REDUCE IT (simplify if possible)
Write each decimal as a fraction or mixed number in simplest form.
1.0.8 2.13 3.0.12
s @] | 3 =L [2]
T 5 10 100 25
4.9.75 5.2.05 6.0.375
Jé-— = _3__, .§. - .-—l—— _3_—,_5-— -
C‘ 100 9 o Zroo - z20 1000
7.16.14 8.4.33 9.5.225
L EO Y 33 225 _1z 9.
“"IOD ”’50 "‘—,53 S 1000 5‘-!0
Case 1: THE DENOMINATOR IS 10, 100, 1000, ETC.
The decimal can be written as a fraction using the place value.
" 7 39 9
10. — 1M 11— 12, 4——
Wriling FRACTIONS 0 00 7500
as DECIMALS
0.7 11.39 .009
Case 2: ANY OTHER DENOMINATOR
Divide the numerator by the denominator.
7 215 3 2 11 2
13. - 14, 5= 15. —
8 s[7.000 rE 2'800 5 5in.o
= -lo
22 -20 -10
0 2 °
~4D
[
Jo.sns’] 5.5 2.2

® Gina Wilson {All Things Algebra®, LLC), 2019



16, 11 22 {4711

" 50 50l1v.00 25

sle°
100
- 100

o]

‘ 0.22

L2 18. 27 rﬁéﬁi
2s 1.00 : 16 “o 571.6000
-50 - go
200 _gb
-200, joo0
-9
40
-32
‘ 20
[0.28 3.5(25 13

Non-Tervinating

DECIMALS

» A decimal that ends is called a terminating decimal.

» Decimals that never end are called non-terminating decimails.

> Non-terminating decimals that have a pattern are called repeating
decimals. These decimals can be written using bar notation:

0.333333...=__0.3  1727272...= .12 16.2545454...= |- 254

Wirite each fraction or mixed number as a decimal. Use bar notation for

repeating decimails.

2 2222 7
9.5 a[z.00000 20. 3 (l-“l.gooo
-lg h q'o
22 -33
-18 =5
20 - b
-1% vt
20 _33
-8 -5
0.2 fe. 3.03
5 .2333 34 5%
2% bls.0000 2. % (5] ::.oooo
- g -
gl s
"gD y 00
2-8 -q0
-lzo KX
18 90
by 2z r"']__ log
l°83 20Z(ﬂ ﬁo
7 .38% ¢ 53 .
R 18{7.0000 243 12]s3.0000
-sj ‘!
-1 44 :ﬂzz.o
:go -12
- g0
| 6O g2
3 - T )
b3 [t 0

© Gina Wilson (All Things Algebr
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Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

FRACTIONS
& DECIMALS

» One way to compare fractions and decimals is to convert them to

decimals

and compare using place value.

» Example: Elena and Rory each ordered a personal pizza. Elena ate
—:% of her pizza and Roy ate 0.78 of his pizza. Who ate a greater
portion of their pizza?

1.3
ISTw.0oo00

-108
-10o

Elena = 0,13

[

Roy ate more pizza.

Compare the numbers by placing a <, >, or = symbol in the circle.

5 ]
1.0.62®— .L25 2.2.2@2— 1 b
8 g coc 5 Tooo
0.b25 48 2.6 ol
-6 —-—"T-O
40 -3
=40 =0
o
7 [ Yy 5 L] l ‘ﬂ
315 @ 17 qEil e o.oas@ > l?_[——‘*—Lz‘oo Ll
A b3 - -48
1 15 Mk 55
- L3 12
10 g0
3 -12
7 g0
g
571 73 sT= 6.Z@Z.E z
5 l.0 7 : 1}.000
-10 - i
q1.2 o 30
-238
20
-14
vo
-56
1-{
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7. During a snowstorm, Buffalo got
2773 feet of snow and Rochester
got 2.319 feet of snow. Which

8. In the past year, Aidan grew 1.48
inches and Greg grew 1 -§
inches. Who grew the most?2

city got more snow? b
43185 3lz.000
lbiT.0000 . ""'5_’?"
g leemll T ]
- 'lzlg_ * ,___’L,\_]Q‘_?”_
80
~-80
[5)
9. Order form least to greatest: 3,0.4, ]—55
. 357 )
QAW 1[4.000 4 [s.c00 s o
- - — 0.
FRACTIONS G Mz 109
& DECIMALS =3¢ 125
40
-3b 98
2

10. Order form least to greatest: 1.82, ik 1.095, 1=

20 4
5

> . 8
N[zo.000 sTH.0
- 4o
93 =49
-2% ©
27
-\
20
a0 |.0as, |5, T’ .82
11. Order form greatest to least: —28—5- 0.095, 0.3, %
.32 .3
2S [g.00 10{z.0
-1S__ -30
50 >
-50
(7]

{ 0.3, %5, 1=, 0.0

Round 1 |Round 2
1
Jared 0.34 3
2
Kyra | 0375 3
4
Rigel 031 Ty

12. Jared, Kyra, and Rigel shot hoops for two rounds. The table to the left
shows the fraction of the shots they made. Which student(s) shot a
better second round than the first round?

.33 3 0.3 .
3700 512.0
A -20
S )
-9

-

01
13[4.000
-31
'3
160 Ky
q
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Name:

Date:

Unit 3: Rational Numbers

Per: Homework 13: Fractions & Decimals

** This is a 2-page document! **

Directions: Write each decimal as a fraction or mixed number in simplest form.

1.1.4 2. 3.25 3. 0.62
4 - 1z _ LZ -
| 10 15 325 100 37-H 10D 50
4. 744 5.11. 125 4. 285
Al = L - 1
14 Too - 125 H 7000 looo G 28 = 1255
Directions: Write each fraction or mixed number as a decimal. Round to the nearest thousandth
if necessary.
3 .215 7 2 S5 14 Z,
73 g[gf'&" 8 3% Zoﬁ.%_o— "3 SIT'-L_g_
-24 210
w0 ',3?, 40
- 56 7 -MD
40 o
-40.
(]
0-37:]5 3.35 2.3
8 4 4 1] Al
10. — 533 11. 2— 12. 1— .
5 15[3.000 9 a[g.000 12 12110000
-1S8 -30 '._'_2.-8?—:5-
50 40 -12
. ‘*55 - -36 g0
40 12
-45 -3k 0
5 y 12
]0053] 20 I 'ql b

Compare the numbers by placing a <, >, or = symbol in the circle.

1
13. 0.34 @ ]

311.00
-9

10

-9

l

Ov

14. 3]‘—“’ @ 3.908

090D
l{10.0000
-9

I

-

<

1
.sg‘o

D
0

L

1. 1—- @n
Ho ‘3.000

- 0

300

- 280

— 200
.200

o
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19 - 2 — 21
16, 2.125@ g 17. 43 @ = 18. ;.3\@ L
q'_ﬂ.LL rJ— 1.3125
19.000 5{2.0 \w[Z1.0000
l—'——g—s -20. -16
l.q 0 50
% 1
ke T e
13 —"'g"oz
—-r g0
-80
o)
20. Max has 'rwo cats, Rex and Roman. If Rex

19. Carina and Rylee ran a mile in gym class.
It took Carina 7.18 minutes Rylee 7% minutes

to complete. Who ran the quickest?

weighs 1 1 pounds and Roman weighs

11.329 pounds which cat weighs the most?
Rex = 11.38% |b

| b _ ,
- Rylee =711 mip .
25(4.00 3 1% |7.000
- 25 -5 4
|sg l vo Re,
-15
=5 Rl - 144 -
&0
iiee _ 144
I o
13 ¢
T

21. Order the following numbers from least to greatest: 1.095, 1.83, 1

8Ll .325711
53 ||3.ooo 1 (b.oooo

-120 -Bb
100 40
=19 282 b 13
100 50 W5)l.83j\:" l—:-s—
90 -419 \ !
10 9
3
22. The table below shows the amount of rainfall, in inches, each month from March through June

Order the months from greatest to least in terms of the amount of rainfall
"

L1t
. 00
Month | Rainfall I -21 ,oo b l.000
March | 2.06 gg 40
= —5 Z3lo—
poril | 22| 278 zo )
0 U Bl
M 21 v 0 sl
June 2.108 z
Aorl May , June, Mardn
] son INgs Algebra®, TITT™2




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Rational numbers can also be negative.
Write a rational number for each situation:

ﬂ@gat/i\/e 1. 25.2 feet below the water level -725.2
RATIONAL 2. a 9% foot gain in elevation O\%
NUMBERS 3. a $1.60 tax . LO
4. 2% degrees below zero -2 %
5. a $42.95 withdrawal - l_’.z‘q 5
8. using 14§ ounces of shampoo -1 H %
7. a$13.71 deposik (3.71
8. beating arunrecord by 3% seconds - 3—,‘-16

Recall that absolute value is a number's distance from zero.
We use bars around a number when finding its absolute value.
Find each absolute value:

ABSOLUTE |, |—3‘ Z 10. 51‘ 5 n. ’-21 22
VALUE 7 1 4 o 20 20
12. 495 4 9q& 13.|-0703 703 14.1-82 g5
. Use the number line to compare the values below.
COMPARING 18. —2l —1—]- 16. -0.08 -0.35
4 2
neJative . . ) )
Rational #'s | +—+—~+—+—+—++> | —A+—+—+—+—+—+—>
ol 2 3 1 o4 3 04 -03 02 -01 0 0.1 02
4 4 2 4 4

To compare negadtive rational numbers, write both numbers as:

. Like

OR

. DeumalS (to compare place value)

Think about where the numbers would fall on a number line.

The number closer to zero is the larger number.

Frachons (fractions with the same denominator)

© Gina Wilson (All Things Algebra®, LLC), 2019




Compare the numbers by placing a <, >, or = symbol in the circle.

4 1 5 3
17. —— - 18. -1— -1=
5 (93 JOR-
- & - | 2
T €
19. —2.09@—2.2] 20. —15.8@—14.01
21. 23 @—21 22. - L ~0.28
. =2 3 T )
.333 2.3
Lg 00 2s5[7.00
10 T
=1 _ -200
{2 [2)
23 -74@-71 ' 24 -3§®-38
. =7. Z .32 .
.25 .833
4fT o0 bls.co0
-2 -4g
20 20
-20 =18
o 2
—)
Order from least to greatest. =
1 1 2 1
25, e — 2 26. —42,—4—,— 408
6 5 15 | 9
S ,-L -4 Ui.ge
30 2 7 30 0
-1
]
. Lz
=3 P ™ -4.2 ,-49,~ -03)
3 1 2 3
L =2,.05,-1= .-3%,-32,-3,
27 > 5 28 35 38 3.04
42 .2 , 315
sfTo 5[z.0 $[3.000
T]3w00
23 -1 0 7 -20 -24
R ° B @O0
20 -5b6
i L —
e N
- d . = 3 R ..
s S’ ’ 7 )"3%")' g, 304 ©
S ®Gina Wilson (All Things Algebra®, LLC), 2019




Name:

Unit 35 Rational Numbers

Homework 14: Negative Rational Numbers

Date: Per:
Directions: Find each absolute value.

3
112678 2.15 |2 -13 ]g—

1
3. 19—
i 10

q_llc; 4.1-504 5,04

Directions: Compare the numbers by plocing a <, >, or = symbol in the circle.

5 2 ()1

15 15

19 7
2= 2- 7. - L
2 @ 20 8

%
"Z.’cT

33 -3s
Ho Ho

8. -0.64 @—0.81

9. -7.17@ -7.16 10. -9.02@-10.7

1
11. -4.35 -4—
(-3

5] |..o

-10
o]

12. -0.27@ 2

Z3{9.00

5
150
-|50 .-:z?..g

14, -11

@—11.16

O —

]
15. 49@-1- 16, -8 _801

Ao ST 60 223
,ﬂo _'Zo \2. ..DOOO
.lq "gg ‘l'b'tz
2 10 5%
— 30
Directions: Order from least to greatest. 4
7 1 7 2 5
- - - 18. -2—,-2=,-2=
17. 55’ 0.08, 3 8 2]] 23 28 .
‘ r'_'_;j ,——-m [_‘_m 8 5.000
50900 3 ‘*200 \ ‘{’.zoo 3 7{'800 HE
- - - 20
-60 20 —5 20 b
20 O Zle -3?3 -1e —40
—s Ao L e Al
- r .
50~ 8 , 0.08 23 Z\I J Z&

—g Gina Wnlson AN Things Algebro" LLC). 2019




Unit 3 Test Study Guide Name:
(Rational Numbers) Date: Per:
Topic 1: Fraction Operations
Directions: Evaluate. Write each answer as a fraction or mixed number in simplest form.
13 _ 1., 3 1 .7 _ ) 19 83535!.35
1.1———-—-- 2, 61— = = 11 ——l—4= === - = 4=
63 q 6712 o Tz 3350 "2 "o '
=443 =366 _as =350 17 .2
1 12 0 = T’—D‘ 90 90
_ 23 =233 15
I Y2 = 211 9o ‘lo
vo = 308 _ 154
= IT”E_J = L.|§_L 0(0 T Y4e 3‘.*-2
5 4 5 .17 3 1,2
4, 2§-G 5. 39 1% é SE—ZZQG
U4l g |Bez . #55 - o 53 _n . 328
23 155 10 ) e 287 K ! Vs
= S 53 - 2-_"1 = 53_48
15’;’ o 5 o 10
) 2
14,10 13,3 3. e2l
TR 8. 115 95 9. 34.6+2]2
1 2 28 .18 _Tun g' |58 .1, 31
—inoﬁ.: "'_q.. ]5'5 ”"Z-';E o2 12
B 18 2 3 12
s 5 5,23 - 15, b2
)24 g 012 T o724
36 =l_1. = =3
24 |32
Topic 2: Decimal Operations
Directions: Evaluate.
10. 18.473+195.91 11. 46.2-9.048 12. 114(2.3)
31lo!l9q,)p
13.4713 Y. o8 Il
§las.aio - 9.04% x 2.3
s
714323 —3171.152 —24¢%
2320
2bb.8
214.383 ] 37.152 {2L6.3
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13. 7.4(6.28) 14. 875(0.09) 15. 513-47(98)
7.4o0 ) 210
X023 3.15 o g 5138
5920 x .07 L
g 00 5 24
44 000 187 4230 S
qoq120 4 bOb
Y472 (01375 ] 5.24
16.196-7 17, 9072 g, 282
2. TN 5.0 "06
1ha.6 13[ao.12 Y
- 14 9D bl|28 2
50 07 -24
-56 -0 42
o 12 -42
12 >
o
28] 5.04 [47]
19. 511+3.65 20 1_2_25_ 21. 212+-0.008-7287
'__L.-_‘i- REE 2 L1 9
3ws 3. 0 4. g Ex_z%g.— 245, 98]
-3us 25)12z2.s o - 72.87
- (o] -
I+ 9 15e 52 97213
- 14U 275 -4g
i i, T
o] -4D
—70
[14] 4.9 k2.3
FRRER——

Topic 3: Applications with Fraction & Decimal Operations

Directions: Solve. Give each answer as a fraction or mixed number in simplest form.

22. Naomi needs pieces of yarn for a craft
project. If she has 22 yards of string and

each piece needs to be % yards long. how

23. Jillran 125 miles on Friday and 43 miles on
Sunday. How many more miles did she run
on Friday than on Saturday?

many pieces can she cut? < 145 o4l 4as '_‘”_9.
23 .2 23 K& 12 9 3 30
' 2
9 1S 3 s = 21
=15 _ ©
2 = 1a. >
Ry
114 picces 1_36
L ® Gina Wilson [All Things Algebra®, LLC), 2019




24. Lia is snorkeling with her brother Tom. If Lia is
517—0 feet below the surface of the water and

Tom is l%times further below the surface
than Lia, how many feet below the water is

q
'5 .42 - a3
<
SPQ 1 S
::"]—3- £+

25. Colin started a new book on Monday. If he
read % of the book on Monday and -27—0 of the
book on Tuesday, what fraction of the book
does he have left?

Jo4 1 | - 1L

s 1 2o I—Io

- 5 = 4O _'7_
o L o 4o

=_|____ =1.2_).
4o |40

24. Erin combined l:—; pounds of peanuts with
1 % pounds of M&M's to create trail mix, then
evenly distributed the mix into 8 bags. How

mclny pounds trail mix are in each bag? 32 .zl q 3
4 A 34 . g g W 2 lo 3
|g 17 9 cl
-35 , 33 n34 1 =2 v e
18 T 9Q "By g |
= by - 34 =0 b =% lo
2 9 30

27. Tyler has ]’;6 pounds of raisins. If he uses g of
the raisins to make raisin bread, how many
pounds of raisins does he have left?

Directions: Solve.

28. On a certain day, the high temperature was
91.4 degrees and the low temperature was
75.92 degrees. Find the range in the
temperature that day.

P §o°
-15.92

15 .¥%

29. Tyrone swam 4 laps of the pool in 6.2 minutes.
How many minutes did it take him to swim
each lap?

5
41620
-4

22

-20
20
-20

542 de

<

1.SS min

30. Natalie burns 8.7 calories per minute running.
If she runs for 45.2 minutes, how many calories
will she burn?

4s, 2
x £.7]

31 b4
2Ll b O

293.2 4

393.24 cad |

31. Frank has a gas tank with § gallons of gas.
If he uses 0.36 gallons each time he cuts the
grass, how many times can he cut the grass?

1 3.3
ATy

-30

140
-)08
320 slgﬁimesi’
-2.88

'@Gﬁmon (All Things Algebra®, LLC), 2019




32. What is the minimum number of rows of bricks | 33. The salad bar at the grocery store costs $5.95
needed to build a wall that is at least 4 feet per pound. If Gary makes a salad that weighs
tall if each brick is 2.25 inches tall2 Vv 1.3 pounds and pays with a $20 bill, how

431N much change will he receive? Round to the
z1.33 nearest cent.
2251 4300.00
5.95 1 q 10
“450 x 1.3 8. 3&
325 SR ST
-2
150 595 0 (2.2b
- LS 77 SREE
1S 0 : &
- 15 b( 1 Ok‘s , 2 ' 2. (a
) T

Topic 4: Fractions vs. Decimals

Directions: Write each decimal as a fraction or mixed number in simplest form.

34.1.2 ‘ 35. 0.84 36. 9.175
zZ - ||% 34 . |2 175 |
° |5 —-— T = = |9 L
10 |00 | 2§ ol 100D ﬂ 40
Directions: Write each fraction or mixed number as a decimal.
5 7 43 .
37. 2= 38. — . 39. —
8 025 % Wo[7.0000 9 Aq|43.000
g SuOOO - l' (o] - b
-H3 — 00 i——., 5
20 o -3
i "2 400 q0
HO “3L0 -
-40 4gbo0 70
5} -3 0 —b3
5o 1
r _
528 o.1lb 4.7 I

Directions: Compare by placing

a <, >, or = symbolin the circle.

2
40. 1.197 1=
%
1.4 .
s[2.0

-20
o

11
41, 5 @0.73
.
IS|il.000

013
-105

50
-45
60
M5

5

9 -
227 ()28
2.042
r_'_tﬁ
4[a.000
3

L

LO
=S5b.
40
-28
| 2-
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time studying? .51
.57 1{4.000
Elena l-‘i ’..\.3_5..-
7 50
Mina | 1.56 '—'i—%'(')
7 okt IR
Darrell E 3

1.583

43. The table below shows the amount of time, in
hours, that three students spent studying for
their math test. Which student spent the most

44. Order from least to greatest: 0.45, 596 g
53| 2079.00 . 0.5 0.4
12{7.000 -80 .
o 205 q14.000
{00 . 0 ;_3._0__
fo ° Bb_
:'37.% 40
- b -
T |3 Rk
lDarvel] )

Topic 5: Negative Rational Numbers

_

Directions: Find each absolute value.

1

45. 1407 4.0 4s. |27

2%

1
15

L
15

.|

48.|-0832 0.g32

Directions: Compare by placing a <, >, or = symbol in the circle.

3 17

49. -= -

O
15
20

-1% 51. -415 @ 4087

52, -3 @ _32

‘3'f6 "Z.O% -L’I; b
. .08 r’u"
bl1.000 2s[2.00 3 zl.gooo
- - D -
T 500 —z0
-3 .200 -18
G = 20
e A8
z

2 2
22 . -42 -44
25 54. 43 @

55. Order from least to greatest:

7
-—, -0.35,-0.2
25
=23
L2
25|700
-50
200
-200
[+

56. Order from greatest to least:

—2%, -2.61, —2%—
.3 3 5l7_.o
-20 ~ L.
300 3 2.4 ‘20
-9 (o]
|0
=+

FO.35; -0.28,-0.2 ’—ng— ! .'2%:' _2‘1"—(\
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Name:

Unit 3 Test

Date: Per: Rational Numbers

5
1. Which model is equivalent to the fraction 8 ¢

A, B. C. D.
5 _ 5
24 % e
Evaluate. Write each answer as a fraction in simplest form. Use a mixed number when possible.
5 .7 1 3 1
2. 2~ 22 3 1--2
AT %‘ AT 278 2
3 -3 4+2
- Ll 2 %71
30 30 ) .
12 _3 4,25
- (ﬁi T 3 ti1z
30 2,25
3 3 1z
= 23 7+ 35
- — 10 YA o = -] 2
10 Tt FTs t
434 | ]E(i_ﬁ.)
‘25 & 183 15
s 4
3s ,(;_o -_8_3
_é_ 1 =3 4 IS 15
S ‘-, 20 T 3,5 . _1_2‘7_ =_l_‘i
3’ 183 q
3. |5
20 9
9 15 2,9,
67 2% 7 23+4;
| S L A . L
3.?.‘-— . __24,_’1-3 - "3__1 ‘3"’+ o 3!
$ Y 40
23 32,9
ER R T AT
21 ) s
Ho 12 12
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8. Samantha ran one mile in 82 minutes. This was l—— minutes longer than her friend Marissa’'s time.
What was Marissa's time?

13
< !
27 13 355 _ 52
A. 75 minutes C. 7% minutes 0 (s}
_23 . ﬂ . = 30
B. 7 m minutes D. 720 minutes :}—3 B

9. A stretch of the highway between Exit A and Exit B is lég miles long. If a car breaks down % of
the way from Exit A to Exit B, how far is the car from Exit A2

_ %5z 3|
3 )
: : -3
A. ]22 miles C. 9ﬁ miles 3
1"
B. 123 miles D. 975 miles B

10.1f 4 l ounces of red paint is combined with 3 B ounces of yellow paint to create orange paint,
how many ounces of orange paint are in the mlxiure2

4yt G 3 15
- 25 59
T + s
126 + 1g -
A. 7% ounces C. 8% ounces © 30 30 2-353
B. 7% ounces D. 81—250unces =% C

11. Derek has 4 rolls of wire. Each roll of wire is 17 feet long. If he needs to cut the wire into pieces
that are l— feet long. how many pieces of wnre can he cut using these 4 rolls of wire?2

4. 11% M.
AL 4 z " ®
S o SREY
A. 16 pieces " | R 43
B. 48 pieces EALE R
C. 62 pieces = = _l%g = L2 % C
D. 63 pieces
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Evaluate. Write each answer as a decimal.

12, 21.253-9.98 13. 0.74x12.55
0y
23983 12.55
- 9.9%0 X 0.1Y
€185 0
T9.287 0
11.273 Q.287
14. 3.2(7.419) 15. 52.02+9
5,713
.419 9 l £2.02
x 32 -45
) 4_ 23 ' 70
222570 ;_‘4;3_7—2—
23 N 40 ¢ .12
o
23.7408 5.18
16, 252 17. 16.5+0.04
1.6 2.
23 25 4l1ub50.0
e [H52.00 -1l
-32 05
132 1
1289 2
10 2o
- 2
.20
Kz =5
(o)
238. 25 412.5
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24
24

0%

18. Callie is buying a TV that costs $648.87 in
fotal with tax. If she pays for the TV in four
equal monthly payments, how much, to the

nearest cent, will she pay each month?
12,217

Y [GHg .80
4

19. The total rainfall in a certain city was 29.785
inches last year. This was 1.08 inches less
than the average annual rainfall. Find the
average annual rainfall.

29.7185
+ 1.080

30.8b5

30.8065 n

.80 O.s5
x3.25 X 2.4
00 330
3200 (100
5400 0 |43 0
s85 00

20. Blair is buying strawberries and bananas to
make smoothies. Strawberries cost $1.80 per
pound and bananas cost $0.55 per pound.
If she buys 3.25 pounds of strawberries and
2.6 pounds of bananas and pays with a $20
bill, how much will change will she receive?

21. Andy is using wooden boards that are 0.45
feet wide to build a deck. How many rows
of boards are needed to cover a space that
is 21 feet wide?

4STZTC0"

22. Write as a mixed number
in simplest form:

576

wl’

5.85 -180
dE] T
7.2 8 310
20.968° 800
- __1% A. 44 boards 20
) 2. B. 46 boards
% C. 47 boards
12712, D. 49 boards C
23. Write as a decimal: 24. Write as a decimal:
3 7
kT 4%
1215 .233
IL]3. o000 30[1.000
-l b - Lo
{\ Ho 100
- 2% -90
) 20 10O
-1 2 990
€0 10
-80
(o]
}.1815 0.23
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25. Which values are less than 0.3242 Check all that apply.
.35 2060 W32 l
20100 15[ 4.000 4o[i3.000 035 b
60 =30 =128,
l’ Og | %0 I ogo
-10 90 T—_— :
) T 200 0.3 ¢
-200 ;
M1l 1 -
1215,0000 10
-8
20
=12,
€0
2
26. Which statement is frue? 27. If the list of numbers below is ordered from
least to greatest, which value could goin
the box?
1
A. 208>2< 2.08> 2.2 {1.78, 2 ,%}
5 -
B. 75=032 0.3125=20.32 1).e3
12 3
C. ]$< 1.45 .48 < 1.45 A. 1.095 C. IZ 1,15
2 - 9 17
= . 1= = .
D. 9>0-2 0.2702 D B I D 120 .85 B
1-81
28. Which statement is true? 29. Which value is the greatest?
A. |-6.2=6.2 A. -1.25
B. [6.2=-6.2 B. -0.85
c. LUo4 2 Lo%
4 C 73 '
] ] 7
D. ——= - =T - .
| 4’ 4 A 0. -5 ~o1 C
30. Four values are given below. List the values in order from greaie‘sgf to least using the letters.
l *
_ 311.000
Al -1.5 G l_ 80 © -9
] - 4o 9
B —]Z -l 1 -3b Ty
"o -9
c| 11 |-1.3 -3¢ T
3 ™" 4
D | -1.09
D B c A
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